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ACCOUNTING 
Paper 1  Financial Accounting 

Friday 26 May 2023 Morning Time allowed: 3 hours 
 
Materials 
For this paper you must have: 
• a calculator. 
 
Instructions 
• Use black ink or black ball-point pen.  
• Fill in the boxes at the top of this page.  
• Answer all questions.  
• You must answer the questions in the spaces provided.  Do not write  

outside the box around each page or on blank pages.  
• If you need extra space for your answer(s), use the lined pages at  

the end of this book.  Write the question number against your answer(s). 
• Do all rough work in this answer book.  Cross through any work you  

do not want to be marked.  
 
Information 
• The marks for each question are shown in brackets.  
• The maximum mark for this paper is 120.  
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outside the 
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Answer all questions in this section.

Only one answer per question is allowed.

For each question completely fill in the circle alongside the appropriate answer.

If you want to change your answer you must cross out your original answer as shown. 

If you wish to return to an answer previously crossed out, ring the answer you now wish to 
select as shown.  

0 1 Which stakeholder will not find the schedule of non-current assets useful?
[1 mark]

A Debenture holders

B Existing shareholders

C Local community

D Potential investors

0 2 Which of the following is an example of an error of principle?
[1 mark]

A An invoice for machinery repairs posted to the machinery 
cost account.

B An invoice for machinery repairs posted to the rent and rates account. 

C A sales invoice not recorded in the sales journal.

D A sales invoice posted to the debit of the sales account and credit of 
the bank account.

CORRECT METHOD WRONG METHODS
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 Which items would be included on the debit side of the purchase ledger control 
account? 

[1 mark] 
   

  A Contra entry; discounts allowed; interest charged  
 

  B Contra entry; discounts received; purchase returns  
 

  C Discounts allowed; payment to suppliers; purchase returns  
 

  D Discounts received; interest charged; purchase returns  
 

 
 

0 4 
 

 Which of the following is an example of capital income?  
[1 mark] 

   

  A Commission received  
 

  B Credit note received for cancellation of maintenance contract  
 

  C Credit sales  
 

  D Trade in value of machinery used in part exchange  
 

 
 
 

Turn over for the next question 
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 Which is the correct formula for the calculation of interest cover? 
[1 mark] 

   

  A Interest payable
 Profit after interest and tax 

  
 

  B Interest payable
 Profit before interest and tax 

  
 

  C 
Profit after interest and tax

 Interest payable 
  

 

  D 
Profit before interest and tax

 Interest payable 
  

 

 
 

0 6 
 

 Which book of prime entry will be used to record a cheque received from a previously 
written off irrecoverable debt? 

[1 mark] 
   

  A Cash book  
 

  B General journal  
 

  C Sales journal  
 

  D Sales returns journal  
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 A sole trader has prepared her income statement for the year ended 31 March 2023 
which showed a profit for the year of £35 360. 
 
However, it was discovered that interest received of £2 250 had been debited to the 
interest paid account. 
 
What is the corrected profit for the year? 

[1 mark] 
   

  A £30 860  
 

  B £33 110  
 

  C £37 610  
 

  D £39 860  
 

 
 

0 8 
 

 Marge has provided the following information for the year ended 31 January 2023. 
   
   £ 

Dishonoured cheque 145  

Receipts from trade receivables 58 100  

Trade receivables at 1 February 2022 6 330  

Trade receivables at 31 January 2023 6 870  

 
What is the value of the credit sales for the year ended 31 January 2023? 

[1 mark] 
   

  A £57 415  
 

  B £57 705  
 

  C £58 495  
 

  D £58 785  
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 The motor vehicles provision for depreciation account for the year ended  
31 December 2022 contains the entries: 

   
   £ 

Balance at 1 January 2022 40 512  

Balance at 31 December 2022 22 293  

Depreciation charge for the year 7 922  

 
On 31 October 2022 a motor vehicle was sold.  There were no other additions or 
disposals of motor vehicles during the year. 
 
What entry will be made in the motor vehicles provision for depreciation account to 
record the depreciation on the motor vehicle sold? 

[1 mark] 
   

  A £10 297 Credit  
 

  B £10 297 Debit  
 

  C £26 141 Credit  
 

  D £26 141 Debit  
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 The following information is available for the year ended 31 January 2023. 
   
   £ 

Provision for doubtful debts account at 1 February 2022 5 942 

Trade receivables at 31 January 2023 148 700 

 
A provision for doubtful debts of 3% is required at the year end. 
 
What is the income statement entry for doubtful debts for the year ended  
31 January 2023? 

[1 mark] 
   

  A Expense of £1 481  
 

  B Other income of £1 481  
 

  C Expense of £4 461  
 

  D Other income of £4 461  
 

 
 

1 1 
 

 A bookkeeper received a purchase invoice that has not been recorded in  
the accounts. 
 
Explain why this error might not be discovered. 

 [3 marks] 
   

   

   

   

   

   

 
 
 

Turn over for the next question 
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 The following information has been extracted from the books of account for 
Peter for the year ended 31 January 2023. 

  

   £ 

Inventory at 1 February 2022 34 195  

Inventory at 31 January 2023 29 785  

Purchases 155 000  

Returns inwards 16 440  

Revenue 225 000  

 
Additional information 
 
1. During the year ended 31 January 2023, Peter took goods with a selling 

price of £2 800 for his own use which have not been recorded in the books 
of account.  The mark up on these goods was 25%. 

2. Included in the inventory at 31 January 2023 were 2 000 items with 
damaged packaging.  These items cost £13.50 each and have a selling 
price of £14.65 each.  The total cost of replacing the packaging is £2 850.  
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 Prepare the trading section of the income statement to show the gross profit for the 
year ended 31 January 2023. 

 [7 marks] 
   
  Peter 

Extract from income statement for the year ended 31 January 2023 
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Turn over for the next question 
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 Angela, Bennett and Christoff are in partnership.   
The partnership agreement states: 
 

Interest on capital 5.5% of the balance on the partner’s capital account at 
the year end. 

Interest on drawings 6% of the balance on the partner’s drawings account at 
the year end. 

Salaries £28 000 per annum each for Angela and Bennett only. 

Profits and losses Shared in proportion to the balance on the partner’s 
capital account at the year end. 

 
The following information has been extracted from the trial balance at 31 May 2022. 

 

  Angela 
£ 

Bennett 
£ 

Christoff 
£ 

Capital account 67 000 45 000 38 000 

Drawings 11 000 12 000 26 000 

 
Additional information 
 
1. The income statement for the year ended 31 May 2022 showed a profit of  

£47 000 before any appropriations. 
2. The opening balance on Bennett’s current account at 1 June 2021 was  

£5 298 (debit). 
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 Prepare the current account for Bennett, clearly showing the balance brought down at 
1 June 2022.  Dates are not required. 

 [10 marks] 
 

Dr       Current account - Bennett                                    Cr 

Details £ Details £ 

    

    

    

    

    

    

    

    

    

 
  

Workings 
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1 4 

 

 Rexarol plc is preparing the accounts for the year ended 31 March 2023. 
 
The directors provided the following opening balances at 1 April 2022. 
 

Share capital  £1 400 000 

Share premium £630 000 

 
The following events have occurred during the financial year. 

 

30 June 2022 A bonus issue of 2 new shares for every 5 shares held 
was made. 

1 August 2022 A final dividend of 7.5p per share for the previous year 
was paid on all shares in issue at 1 April 2022. 

20 January 2023 
A rights issue of 1 new share for every 4 shares held was 
made at a 20p per share premium.  This was fully 
subscribed. 

15 February 2023 An interim dividend of 2p per share was paid on all 
shares in issue at 31 January 2023. 

31 March 2023 A dividend of 8p per share was proposed by the directors 
for the year ended 31 March 2023. 

31 March 2023 

Property is revalued to £1 950 000.  It had originally cost 
£1 800 000 and had been owned for 5 years when 
revalued.  It has been depreciated at 6% per annum 
using the straight line method. 

 
Additional information 
 
1. The nominal price per share is 25p. 
2. The directors maintain the reserves in their most distributable form. 
3. The draft profit from operations for the year ended 31 March 2023 has been 

calculated as £1 858 000.  This figure includes an accrual for legal fees of  
£292 000 which is no longer required. 

4. No adjustment is required for depreciation to the profit from operations. 
5. At 1 April 2022, Rexarol plc had a 6% debenture of £550 000 repayable in 2030. 
6. The taxation charge for the year has been estimated at £708 000. 
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. 1 
 

Complete the statement of changes in equity for Rexarol plc for the year ended  
31 March 2023. 

 [14 marks] 
 

Rexarol plc 
Statement of changes in equity for the year ended 31 March 2023 

 
 Share  

capital 
£’000 

Share 
premium 

£’000 

Revaluation 
reserve 
£’000 

Retained 
earnings 

£’000 

Balance at 1 April 2022 1 400 630 0 1 054 

     

     

     

     

     

     

     

     

 
  

Workings 
 

   

   

   

   

   

   

   

   

   

   

   

  



18 
 

*18* 
IB/G/Jun23/7127/1 

 

Do not write 
outside the  

box 
   

   

   

   

   

   

   

   

   

   

   

   

   

   

   

   

   

   

   

   

   

   

   

   

   

   

   

  



19 
 

*19* 

Turn over ► 
 

IB/G/Jun23/7127/1 

 

Do not write 
outside the  

box 
 

1 4 
 

. 2 
 

Assess the impacts that the bonus issue and the asset revaluation will have on the 
individual shareholders of Rexarol plc.  

 [6 marks] 
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 Bhamen is a sole trader and runs a design consultancy service.  She keeps full 
accounting records, but the computer files have become corrupted.  She has been 
able to provide the following information: 
 

At 1 January 2022 £ 

Computer equipment – cost 15 000 

Computer equipment – provision for depreciation   5 625 

Fixtures and fittings – cost 20 200 

Fixtures and fittings – provision for depreciation 7 800 

 
Additional information 
 
1. On 1 November 2022, computer equipment costing £6 984 was purchased.  
2. Depreciation on computer equipment is charged at 25% per annum using the 

straight line method.  Depreciation is charged on a monthly basis.  
3. On 1 June 2022, fixtures and fittings with an original cost of £4 000 and a net 

book value of £2 900 were sold for £1 650. 
4. Depreciation on fixtures and fittings is charged at 15% per annum using the 

reducing balance method.  A full year’s depreciation is charged in the year of 
acquisition and none in the year of disposal. 

5. A provision of £637 for doubtful debts was created at 31 December 2022.  This 
was calculated at 2% of the trade receivables at that date.  

6. The bank statement at 31 December 2022 showed a debit balance of £425 but 
Bhamen knows that there was a bank receipt of £2 714 and a cheque payment of 
£619 that had been included in the cash book but were not shown on the bank 
statement. 

7. Bhamen rents an office at an annual rent of £4 560.  At 31 December 2022, 
Bhamen had paid three months’ rent in advance. 
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. 1 
 

Prepare an extract of the statement of financial position at 31 December 2022 
showing the total (non-current and current) assets section only.  

 [14 marks] 
  Bhamen 

Extract from the statement of financial position at 31 December 2022 
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. 2 
 

Bhamen’s bookkeeper has found maintaining the financial records by double entry is 
very time consuming and argues that the size of the business does not justify the 
effort.  She thinks a single entry system would be more efficient and save the 
business money. 
 
Assess whether Bhamen should accept the bookkeeper’s proposal. 

[6 marks] 
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Answer all questions in this section. 

 
1 6 

 

 Rexmantel Ltd is a warehousing and distribution company based in the UK.  On  
1 April 2022, they signed a new substantial contract with a major manufacturer to 
pack and deliver products to the manufacturer’s online customers.  The contract 
required operations to start on 1 July 2022. 
 
During the financial year, Rexmantel Ltd made a significant investment in delivery 
vehicles and computer technology.  This was financed from internally generated 
funds. 
 
The directors of Rexmantel Ltd were delighted with the results for the year ended  
31 March 2023.  The revenue had increased by 60% from the previous year.   
A dividend of 6p per £1 ordinary share was paid during the year. 
 
The statement of cash flows for the year ended 31 March 2023 has been prepared. 

   
Rexmantel Ltd 

Statement of cash flow for the year ended 31 March 2023. 
 £ £ 

Profit from operations   1 312 400   

Depreciation 758 600    

Increase in trade receivables (632 950)  

Increase in inventory (212 998)  

Increase in trade payables 36 128    

Interest paid (66 000)  

Tax paid (292 378)  

   (409 598) 

Net cash flow from operating activities   902 802    

Investing activities    

Purchase of non-current assets   (1 539 600) 

Financing activities    

Dividends paid   (30 000) 

Net cash flow   (666 798) 

Cash and cash equivalents at beginning of year   (183 709) 

Cash and cash equivalents at end of year   (850 507) 
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  Both the Finance Director and the Managing Director agree that it should be a 
priority to reduce the overdraft.  They put forward separate options as to how this 
could be achieved. 
 
Option 1: The Finance Director believes the company can reduce the overdraft by 
improved management of cash inflows and outflows. 
 
Option 2: The Managing Director has recommended that the company take out a 
loan to pay off the overdraft.  The bank has offered Rexmantel Ltd a loan of  
£1 000 000 repayable annually over 5 years in equal instalments. Interest on the 
loan will be charged at 9% per annum on the balance outstanding at the start of the 
year.  The company has no other non-current liabilities. 

 
1 6 

 

 Evaluate which option should be used to reduce Rexmantel Ltd’s overdraft.  
 
Your answer should include a justified recommendation.  

[25 marks] 
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 Gonville plc is a chain of kitchen suppliers and fitters, with an issued capital of  
1 500 000 ordinary shares of 50p each.  Gonville plc has been profitable, paying a 
small dividend each year. 
 
The finance director, Gary Hughes, is a qualified accountant and has been working 
for the company for more than 20 years.  Okeke joined the company as a trainee 
accountant and will be sitting his final exams shortly. 
 
Gonville plc has been investigating ways of increasing profitability by reducing the 
cost of sales.  Newhams Ltd has been approved as the exclusive supplier of 
cabinet hinges and handles.  Gonville plc’s annual expenditure with Newhams Ltd 
is expected to be £2 million. 
 
Okeke has been asked by Gary Hughes to create a trade payable account for 
Newhams Ltd with the following trading terms: 

 
1. Full payment will be made within 15 days of the invoice date. 
2. A cash discount of 2% has been approved by Newhams Ltd. 

 
As part of the normal process, Okeke reviewed the new supplier’s financial situation 
and has received the following information: 
 
• Newhams Ltd has two shareholders, Kate Hughes (60%) and Gary Hughes 

(40%) 
• The company has been trading for one year with a turnover of £550 000 and a 

profit for the year after tax of £23 500 
• Gary Hughes is recorded as the Finance Director of Newhams Ltd.  Okeke 

checks with the Company Secretary of Gonville plc and finds that the board of 
directors of Gonville plc have not been notified of this directorship. 

 
Okeke has concerns about the new contract and investigates the terms in more 
detail.  He discovers that Gonville plc has agreed to pay Newhams Ltd a quarterly 
commission of 8.6% on all the goods purchased.  The prices quoted by Newhams 
Ltd are generally 7% lower than those of the existing suppliers. 
 
Okeke knows that the normal credit terms agreed with suppliers are payment within 
45 days of invoice.  Gonville plc has sufficient cash to pay Newhams Ltd within 15 
days. 
 
Okeke is nervous about raising his concerns as he is not sure whether Gary 
Hughes is acting ethically. 
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 Advise Okeke on whether Gary Hughes is acting in the best interests of Gonville plc. 
 
Consider both ethical and financial factors. 

 [25 marks] 
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